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 »2 :«24   2  75/0   .  

2
2

2
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2 2 20 25 0 75 1+ =
ýoË  nj  j¼]¼¶ ½k{  ¾ÎIòH ýoË ¼¶  IM  oMHoM
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  1 1
1
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 2
2
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2
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   :  
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2
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=
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=
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            (    .  
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----------------------------------------------    

83 -  »4«) (  

  100              .

   .            

  1100 502× =
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  1 150 551× =
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+
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----------------------------------------------    
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        .    
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  ) 1 -  :     117  119(  
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85 -  »3«) (  

  .   ( )  ( ) ( )   

   :  

    (          

     .  

   (  :    
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+

     

   (  :    
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  100      34         
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       .   

 (  )     (        

     .    
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----------------------------------------------    
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  :  

       (2      2 

        .  

            (    

          .     

           .   9  17 

      3  11  .  
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  (24   4       6 

 .     

) 2 -      :  7 8  13  16(
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          .  

3
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3
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2
3

1
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3
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3
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2
3

1
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2 2=   
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×

=
×
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----------------------------------------------    

88 -  »3«)  (  

         .  

2 2 2 2 2
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+
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+
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+
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    5          .   

 2  2-  .       

H

C CH

H

CH H

H

H
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H

C

H

H

  
12 34

−
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−
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       .             
                  

 4  2               .
          :    

  
                 

  
   
   

  
  
  
  

> >  :       

) 2 -     : 62(
----------------------------------------------    

90 -  »1«) (  
         :  

2 4 2 2 22+ → +   
1  (    .  
2   (  .    
3   (    2    .  

2 4 2 3 1
2 2 2 2

3 2 2 3

2 183
2 2 486
2 3 92

′+ → Δ = −
′+ → Δ = −
′→ + Δ = +

   

1 2 3 183 486 92 577′ ′ ′Δ = Δ + Δ + Δ = − − + = −®¨   

    :        
  

  2+ = → ≡ +   
  

4 − − =Δ = Δ + Δ + Δ®¨   

4≡ −− Δ + Δ   
577 4 162 495 944 4 463−− = Δ + + − + ×   

1390 5 −
−Δ =   

) 2 -  :      65 66  72  74(

91 -  »1«)  (  

           2   

 :     

2 22 2+ →   

 »1:«         2 

 .      2      2     

      .   

2 22 2+ →
ªº nïÂM ªº n ÁHï½¼¿¤

   

 »2:«         2   2   

   2    2   .  

2
2 2

2

1 1
2 2= → =   

 »3 :«   3  7        

  2    .              

  2  .       
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     02/0   3    .     

      3     2  .     

) 2 -  :      90  91(

---------------------------------------- ------    
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   :   

      (           

 .      

     (        

         .      

              .   

    (               
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            1+  .   
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H

H

H
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H H
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H
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H
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H
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3 8       :  
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2 2         .      
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2
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=
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4 8 2 2 5 6 12 2 2+ → +
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88 1 1× × ×   
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H
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H
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            : )  
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   :  

              (αα     
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7/2   .               
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) 3 -   :      14  24  31(
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98 -  »4«) (  

2 5 2 32+ →   
             :  
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31 4 1056
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10 1
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−
− − −×
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0 9
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−

−= × × =  −   
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2
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2
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100    %20     80     

  20  :     .         

2
2
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